Pythagorean Theorem

	Read the problem and fill in the blank with the question that should be asked. 
	Draw a diagram.
	Solve. Show your work.

	1.  The launching pad for a hot-air balloon is 1.2 miles away from where you’re standing.  If the balloon rises vertically 0.5 miles into the air, ___________________?


	
	

	2.  An isosceles right triangle that has a leg length of 12 centimeters has _____________________?

	
	

	3.  Lenny’s goal is to swim across a river that has a width of 44 ft.  He is standing at a tree directly across from a flag he will use as his finishing point.  He can’t swim directly across from this point because the current will carry him downriver.  If he walks 100 ft.  upriver to a different tree to start his swim, the current will carry him directly to the flag. ___________________________?

	
	

	4.  A sailboat’s captain knows that a lighthouse on the coast is 150 meters tall.  The distance from the front of the sailboat to the top of the lighthouse is 230 meters.
___________________________?


	
	

	5.  A ladder is positioned 7 feet from the base of a building.  The distance between the base of the building and the top of the ladder is 24 feet.  
________________________________?

	
	

	6.  A 250-foot cable runs from the top of a radio antenna to a stake that is 217 feet from the center of the base of the antenna.
________________________________?


	
	

	7.  A tree that is 30 feet tall casts a 45-foot shadow on the ground.

_________________________________?


	
	

	8. Jill is flying a kite. Susan is standing directly under the kite and is 30 yards away from Jill. The kite string is 50 yards long. 
____________________________________?

	
	

	9. A computer monitor is 12 inches wide and 5 inches tall.

_________________________________?

	
	

	10. Frances drives 15 miles west to Yvette’s house. They then drive 8 miles north to the mall.

_________________________________?

	
	


